adams musical instruments

Replacement Parts Catalog
- Marimbas & Xylophones -

mei 2003




Marimbas & Xylophones

s _ s —

S
JRLS
ONF

i

Cat# Description More information

MC Marimba Concert page 2
MCPV43, MCHV43, MCKV43

MSPVJ30 Marimba Soloist Junior page 3
MSPVJ30

MS Marimba Soloist page &
MSPV43, MSHV43, MSPV40

XC Xylophone Concert page 5
XC 1HV40, XC2HV40

XS1 Xylophone Soloist quint funed page 6
XSTHV35, XS1HV40

XS2 Xylophone Soloist octave tuned page 7
XS2HV35, XS2LV35, XS2HV40, XS2LVv40

XS.KV35 Xylophone Soloist zelon page 8
XSTKV35, XS2KV35

XS2LD30 Xylophone Soloist 3 oct. table top page 9
XS2LD30

{ 4D4MS‘, page 1 ——



Marimba Concert

replaced
with
PMA102 &
PMA103

Cat# Description
MCPV43 Concert marimba padouk 4 1/3 octave
MCHV43 Concert marimba rosewood & 1/3 octave
MCKV43 Concert marimba zelon 4 1/3 octave
Pos#  (Caf# Description
1 108 Height adjustment assembled (set of 2 pieces)
2 PMA01 Y-adjusting rod voyager frame assembled (black)
3 049 Large end piece for concert marimba
b 050 Small end piece for concert/soloist marimba
5 029 Set of rails for concert marimba
6 005 Set of resonafors for concert marimba
1 PMAT1 Connecting rod concert marimba
8a - Cat# is dependet on instrument, see table |
8b - Cat# is dependet on instrument, see table Il
9 - Cat# is dependef on instrument, see table |ll

my (pos 8al

More information
page 10
page 10
page 11
page 12
page 13
page 17
page 19

Type \\ Cat# Descripfion

More information

N\

MCPVL4L3 —PMAOZ Leg with wheel for concert/soloist marimba
MCHVL3 PMAOZ- Leg with wheel for concert/soloist marimba

\MEKVLB PMAO3B- Leg with wheel for concert marimba zelon (100 mm with break)

page 21
page 21
page 21

’raﬁgll (pos 8b)

Type \‘ Cat# Descripfion

More information

MCPVL43 ™ PMADZ Leg with wheel for marimba concert/soloist page 21

MCHVL3 PMAG2- Leg with wheel for marimba concert/solaist page 21

MCKV43  PMAG3N—Leg with wheel for marimba concert zelon (100 mm without break) page 21

table Il (pos 9)

Type Cat# Description More information
MCPV43 084 Sef of bars for concert marimba padouk & 1/3 octave page 22

MCHVL43 085 Set of bars for concert marimba rosewood &4 1/3 octave page 22

MCKV43 101 Set of bars for concert marimba zelon 4 1/3 octave page 22

(ADAMS)

page 2 ——


shawnlafrenz
Line

shawnlafrenz
Line

shawnlafrenz
Line

shawnlafrenz
Line

shawnlafrenz
Line

shawnlafrenz
Line

shawnlafrenz
Callout
replaced with PMA102 & PMA103 

shawnlafrenz
Line


Marimba Soloist 3 octave
Cat# Description
MSPVJ30 Soloist junior marimba padouk 3 ocfave
5
3 9
A
2
| ]
1 _JJ
L 8
6

Pos#  Cat# Description More information

1 108 Height adjustment assembled (set of 2 pieces) page 10

2 PMAO1 Y-adjusting rod voyager frame assembled (black) page 10

3 051 Large end piece for marimba soloist 3 & 4 ocfave page 11

A 052 Small end piece for marimba soloist junior 3 octave page 12

5 030 Set of rails for marimba soloist junior 3 octave page 14

6 006 Sef of resonators for marimba soloist junior 3 octave page 17

1 PMALL Connecting rod marimba soloist junior 3 octave page 20
8 —PMABL  Leg with wheel for marimba soloist 3 & & octave page 21

9 086 Set of bars marimba soloist junior padouk 3 octave page 22

replaced with
PMA106 left and
PMA107 right

{ 4D4M5‘, page 3 ——


shawnlafrenz
Line

shawnlafrenz
Callout
replaced with PMA106 left and PMA107 right 


Marimba Soloist

\'ﬁm"‘-\'k\ ,

e L
= ﬂ*\\\\an_m\—'a' = =
T—tee

8
6
Cat# Description
MSPV43 Soloist marimba padouk 4 1/3 octave
MSHV43 Soloist marimba rosewood 4 1/3 octave
Pos#  (Cat# Description More information
1 108 Height adjustment assembled (set of 2 pieces) page 10
PMAO2 2 PMAQ1 Y-adjusting rod voyager frame assembled (black) page 10
replaced w/ | 3 053 Large end piece for marimba soloist 4 1/3 octave page 11
PMA102 & 050 Small end piece for marimba concert/soloist page 12
PMA103 5 032 Set of rails for marimba soloist & 1/3 octave page 14
6 008 Set of resonators for marimba soloist 4 1/3 octave page 17
1 PMAT3 Connecting rod marimba soloist & 1/3 octave page 19
8 PMAGZ Leg with wheel for marimba concert/soloist page 21
9 - Cat# is dependef on instrument, see table |
table I (pos 9)
Type Cat#  Descripfion More information
MSPVL43 088 Sef of bars for soloist marimba padouk & 1/3 octave page 22
MSHVL43 089 Sef of bars for soloist marimba rosewood & 1/3 octave page 22
Cat# Description
MSPVL0 Soloist marimba padouk & octave
Pos#  (Cat# Description More information
1 108 Height adjustment assembled (2 pieces) page 10
2 PMAO1 Y-adjusting rod voyager frame assembled (black) page 10
3 051 Large end piece for marimba soloist 3 & 4 ocfave page 11
I 050 Small end piece for marimba concert/soloist page 12
5 031 Set of rails for marimba soloist 4 octave page 14
6 007 Sef of resonators for marimba soloist & octave page 17
1 PMAT2 Connecting rod marimba soloist & octave page 20
8 PMAGE Leg with wheel for marimba soloist 3 & 4 octave page 21
% 087 Set of bars for soloist marimba padouk & octave page 22
replaced with P
PMA106 left and (ADAMS) page b ——
PMA107 right



shawnlafrenz
Line

shawnlafrenz
Callout
PMA02 replaced w/ PMA102 & PMA103 

shawnlafrenz
Line

shawnlafrenz
Callout
replaced with PMA106 left and PMA107 right 


Xylophone Concert

More information
page 10
page 10
page 11
page 12
page 15
page 18
page 20
page 21
page 23

9 5
3
2
e |
1 /o)
1
6
Cat# Description
XCIHVA0 Concert xylophone rosewood & octave, quint tuned
Pos#  (Cat# Description
1 108 Height adjustment assembled (set of 2 pieces)
2 PMAQ1 Y-adjusting rod voyager frame assembled (black)
3 056 Large end piece for concert xylophone 4 octave, quint tuned
A 057 Small end piece for concert xylophone & octave, quint tuned
5 033 Set of rails for concert xylophone & octave, quint funed
6 009 Set of resonators for concert xylophone &4 octave, quint tuned
1 PMALS Connecting rod concert xylophone & octave, quint tuned
8 —PMAGL  Leg with wheel for xylophone
9 90 Sef of bars for concert xylophone rosewood & octave, quint tuned
replaced with
PMA106 leftand =
PMA107 right
Cat# Descripfion
XC2HVLO Concert xylophone rosewood & oct., octave funed
Pos#  (af# Descripfion
1 108 Height adjustment assembled (set of 2 pieces)
2 PMAQ1 Y-adjusting rod voyager frame assembled (black)
3 058 Large end piece for concert xylophone & oct., octave tuned
b 055 Small end piece for concert/soloist xylophone
5 034 Sef of rails for concert xylophone & oct., octave tuned
6 010 Set of resonators for concert xylophone 4 oct., octave tuned
1 PMALS Connecting rod concert xylophone 4 oct., octave tuned
8 PMAOHE  Leg with wheel for xylophone
9 91 Sef of bars for concert xylophone rosewood & oct. octave funed

replaced with
PMA106 left and
PMA107 right

More information
page 10
page 10
page 11
page 12
page 15
page 18
page 20
page 21
page 23

(ADAMS)

page 5 ——


shawnlafrenz
Callout
replaced with PMA106 left and PMA107 right 

shawnlafrenz
Line

shawnlafrenz
Callout
replaced with PMA106 left and PMA107 right 

shawnlafrenz
Line


Xylophone Soloist quint tuned

Description

Soloist xylophone rosewood 3.5 oct, quint tfuned

Description

Height adjustment assembled (set of 2 pieces)

Y-adjusting rod voyager frame assembled (black)

Large end piece for soloist xylophone 3.5 oct., quint tuned

Small end piece for xylophone

Set of rails for soloist xylophone 3.5 oct., quint funed

Set of resonators for soloist xylophone 3.5 octave

Connecting rod for soloist xylophone 3.5 octave

Leg with wheel for xylophone

Sef of bars for soloist xylophone rosewood 3.5 oct., quint funed

More information

page 10
page 10
page 11
page 12
page 16
page 18
page 20
page 21
page 22

6
Cat#
XS1HV35
Pos# Cat#
1 108
2 PMAO1
3 054
L 055
5 035
6 01N
7 PMALS
8 PMADL
9 92
replaced with
PMAZ106 left and
PMA107 right
' Cat#
XSTHVLO
Pos# Cat#
1 108
2 PMAQ1
3 059
L 055
5 036
6 012
7 PMALT
8 PMAOHE
9 93

replaced with
PMA106 left and

Description
Soloist xylophone rosewood & oct, quint tuned

Description

Height adjustment assembled (set of 2 pieces)

Y-adjusting rod voyager frame assembled (black)

Large end piece for soloist xylophone & oct., quint tuned

Small end piece for xylophone

Sef of rails for soloist xylophone & oct., quint funed

Set of resonators for soloist xylophone 4 octave

Connecting rod for soloist xylophone 4 octave

Leg with wheel for xylophone

Sef of bars for soloist xylophone rosewood 4 oct., quint funed

PMA107 right

More information

page 10
page 10
page 11
page 12
page 16
page 18
page 20
page 21
page 22

(ADAMS)

page 6 ——


shawnlafrenz
Callout
replaced with PMA106 left and PMA107 right 

shawnlafrenz
Line

shawnlafrenz
Line

shawnlafrenz
Callout
replaced with PMA106 left and PMA107 right 


Xylophone Soloist octave tuned

6
8
Cat# Description
XS2HV35 Soloist xylophone rosewood 3.5 oct, octave tuned
XS2LV35 Soloist xylophone light rosewood 3.5 oct, octave tuned
Pos#  Cat# Description More information
1 108 Height adjustment assembled (set of 2 pieces) page 10
replaced with| 2 PMA01 Y-adjusting rod voyager frame assembled (black) page 10
PMA106 left 3 060 Large end piece for soloist xylophone 3.5 oct., octave tuned page 11
I 055 Small end piece for xylophone page 12
and PMA107| 5 037 Set of rails for soloist xylophone 3.5 oct., octave tuned page 16
right 011 Set of resonators for soloist xylophone 3.5 octave page 18
1 PMALS Connecting rod for soloist xylophone 3.5 octave page 20
8 PMAGE— Leg with wheel for xylophone page 21
9 - Cat# is dependet on instrument, see table |
table | (pos 9)
Type Cat# Description More information
XS2HV35 094 Sef of bars for soloist xylophone rosewood 3.5 ocf, octave funed page 23
XS2LV35 098 Sef of bars for soloist xylophone light rosewood 3.5 oct, octave tuned  page 23
Cat# Description
XS2HVLO Soloist xylophone rosewood 4 oct, octave tuned
XS2LVL40 Soloist xylophone light rosewood 4 oct, octave tuned
Pos#  (af# Description More information
1 108 Height adjustment assembled (set of 2 pieces) page 10
2 PMAOQ1 Y-adjusting rod voyager frame assembled (black) page 10
replaced with 3 061 Large end piece for soloist xylophone 4 oct., octave tuned page 11
PMA106 left A 055 Small end piece for xylophone page 12
e 5 038 Sef of rails for soloist xylophone & oct., octave tuned page 16
and PMA107| ¢ 012 Sef of resonafors for soloist xylophone 4 octave page 18
right 1 PMALT Connecting rod for soloist xylophone 4 octave page 20
8 Leg with wheel for xylophone page 21

9 - Cat# is dependef on instrument, see table |l
table Il (pos 9)
Type Cat# Descripfion More information
XS2HVL0 095 Sef of bars for soloist xylophone rosewood 4 oct, octave tuned page 23
XS2LVL0 099 Set of bars for soloist xylophone light rosewood & oct, octave tuned page 23
{ 4D4M5‘, page 7 ——


shawnlafrenz
Line

shawnlafrenz
Line

shawnlafrenz
Callout
replaced with PMA106 left and PMA107 right 

shawnlafrenz
Callout
replaced with PMA106 left and PMA107 right 


Xylophone Soloist Zelon

6
Pos# Description
XS1KV35 Soloist xylophone zelon 3.5 oct, quint tuned
Pos#  (Cat# Description More information
1 108 Height adjustment assembled (set of 2 pieces) page 10
: 2 PMA01 Y-adjusting rod voyager frame assembled (black) page 10
replaced with 3 054 Large end piece for soloist xylophone 3.5 oct., quint tuned page 11
PMA106 left A 055 Small end piece for xylophone page 12
and PMA107 035 Set of rails for soloist xylophone 3.5 oct., quint tuned page 16
right 6 011 Set of resonators for soloist xylophone 3.5 octave page 18
1 PMALG Connecting rod for soloist xylophone zelon 3.5 octave page 19
8a N PMAG3B  Leg with wheel for xylophone zelon {100 mm with break) page 21
8b  PMAOSN-  Leg with wheel for xylophone zelon {100 mm without brake) page 21
9 100 Set of bars for soloist xylophone zelon 3.5 oct., quint tuned page 23
Pos# Description
XS2KV35 Soloist xylophone zelon 3.5 oct, octave tuned
Pos#  (Caf# Descripfion More information
aced with 1 108 Height adjustment assembled (set of 2 pieces) page 10
replaced wi 2 PMAOQ1 Y-adjusting rod voyager frame assembled (black) page 10
PMA106 left | 3 060 Large end piece for soloist xylophone 3.5 oct., octave tuned page 11
and PMA107 055 Small end piece for xylophone page 12
right 5 037 Sef of rails for soloist xylophone 3.5 oct., octave tuned page 16
9 6 011 Setf of resonators for soloist xylophone 3.5 octave page 18
1 PMALG Connecting rod for soloist xylophone zelon 3.5 octave page 19
8a N PMAO3B  Leg with wheel for xylophone zelon {100 mm with break) page 21
8b PMAOSN  Leg with wheel for xylophone zelon {100 mm without brake) page 21
9 096 Set of bars for soloist xylophone zelon 3.5 oct., octave funed page 23

(ADAMS)

page 8 ——


shawnlafrenz
Callout
replaced with PMA106 left and PMA107 right 

shawnlafrenz
Line

shawnlafrenz
Line

shawnlafrenz
Callout
replaced with PMA106 left and PMA107 right 

shawnlafrenz
Line

shawnlafrenz
Line


Xylophone Soloist tabletop

Cat# Descripfion
XSLD30 Soloist xylophone light rosewood 3 octave, tablefop
Pos#  Cat# Description More information
1 170 Frame xylophone desktop
2 097 Sef of bars for soloist xylophone light rosewood 3 octave see below
3 PB535 Leather handgrip
A PM118 Type plate Adams, Xylophone Soloist
5 PM106 Name plate Adams gold
6 PBS21 Plastic buffer, black 20x10
1 PM069 Strengthening strip, black
8 PB124 Head tapping screw 2.9x19 mm, black
9 PB130 Cross recessed pan head tapping screw 3.9x16
10 PB141 Cross recessed pan head tapping screw 2.2x6.5, black
" PB128 Cross recessed pan head ftapping screw 3.5x15, black
Cat# Description
097 Set of bars for soloist xylophone light rosewood 3 octave
Pos#  (Cat# Description
1 PM119 Cord with 2 springs for soloist xylophone 3 octave
BARS - Bar, cat# is XS2LR + note e.g. XS2LRCS5 or XS2LRC#5
{ 4D4MS‘, page 9 ——



Height adjustment assembled

Cat# Description
108 Height adjustment assembled (set of 2 pieces) 9

or PMAOQ5 Height adjustment assembled (1 piece) : 1

Pos#  (at# Description
1 PB056 Hexagon socket button head cap screw M6x20 (black) 3
2 PB507 Wing-screw plastic (wingwidth 40 mm) M8x15 (black)
3 PB509 Wing-screw plastic (wingwidth 40 mm) M8x20 (black)
& PB112 Hexagon sockef button head cap screw M&x10 (black)
5 PB114 Hexagon socket button head cap screw M6x12 (black)
6 PB131 Thumb screw steel M10x20 {black)
7 PB4 11 Plain washer M12 (black)
8 PBBO3 Bearing
9 PB534 Crank handle plastic, grip lenght 80 mm (black)
10 PM005 Plain washer rubber 18x8x4 mm

—_
pury

PM007 Plain washer rubber 25x12x8.5 mm

12 PM072 Fill-washer

13 PM073 Steel disk (black]

14 PMO7L4 Slice for height adjustment

15 PM021 Steel insert protection (black)

16 PMOT1 Worm wheel (yellow)

17 PM068 Connection part (black)

18 PM020 Cogwheel 12 t. for connection part
19 PM135 Plastic slide part

Y-adjusting rod assembled

Cat# Description
PMAOQ1 Y-adjusting rod assembled

Pos#  (af# Description
1 PB511 Wing-screw plastic (wingwidth 40 mm) M8x45
2 PB433 Fixing washers for wing screw

3 PM022 Y-adjusting rod

{ 4D4M5 } page 10—



Large end piece

Cat# Descripfion
049 Large end piece for concert marimba
051 Large end piece for soloist marimba 3 & 4 ocftave
053 Large end piece for soloist marimba &4 1/3 octave
8 3
73 L ¥
3 04 7 !
\ { I N "
| \\\ \\ 0. jL
N d Ll L\J ‘
N al ‘—I ,
2 2 T
6 2 1 11 ﬂ_5
Pos#  Cat# Description
1 PB125 Countersunk head tapping screw, black, 3.5 x 32 mm
2 PB129 Cross recessed countersunk head screw, black, 3.5 x 30 mm
3 PM004 Plain washer rubber 13 x 10 x 23, black
IA PM009 Rubber for resonator, nr. 3
5 PD005 Countersunk head screw m8 x 32 mm, black
6 PM029 Suspension bracket for rails nr. 1, black
1 PM030 Suspension bracket for rails nr. 2, black
8 PM031 Suspension bracket for rails nr. 3, black
Cat# Description
054 Large end piece for soloist xylophone 3.5 oct, quint tuned
056 Large end piece for concert xylophone, quint tfuned
058 Large end piece for concert xylophone, octave funed
059 Large end piece for soloist xylophone 4 oct, quint funed
060 Large end piece for soloist xylophone 3.5 oct, octave tuned
061 Large end piece for soloist xylophone 4 oct, octave tuned 3
Pos#  Cat# Description
1 PB125 Countersunk head tapping screw, black, 3.5 x 32 mm
2 PB129 Cross recessed countersunk head screw, black, 3.5 x 30 mm
3 PMO004 Plain washer rubber 13 x 10 x 23, black
IA PMO11 Rubber for resonator, nr. 2
5 PD005 Countersunk head screw m8 x 32 mm, black
6 PM029 Suspension bracket for rails nr. 1, black
1 PM030 Suspension bracket for rails nr. 2, black
8 PM031 Suspension bracket for rails nr. 3, black

{ 4D4M5 } page 11 ——



Small end piece

Cat# Descripfion
050 Small end piece for concert/soloist marimba
052 Small end piece for soloist junior marimba 3 octave
Pos#  Cat# Description
1 PB125 Countersunk head tapping screw, black, 3.5 x 32 mm
2 PB129 Cross recessed countersunk head screw, black, 3.5 x 30 mm
3 PM004 Plain washer rubber 13 x 10 x 23, black
IA PMO1 Rubber for resonator, nr. 2
5 PD005 Countersunk head screw m8 x 32 mm, black
6 PM029 Suspension bracket for rails nr. 1, black
1 PM030 Suspension bracket for rails nr. 2, black
8 PM031 Suspension bracket for rails nr. 3, black

Cat# Description
055 Small end piece for soloist/concert octave funed xylophone
057 Small end piece for concert xylophone, quint tuned
Pos#  (at# Description
1 PB125 Countersunk head tapping screw, black, 3.5 x 32 mm
2 PB129 Cross recessed countersunk head screw, black, 3.5 x 30 mm
3 PMO004 Plain washer rubber 13 x 10 x 23, black
IA PM008 Rubber for resonator, nr. 1
5 PD005 Countersunk head screw m8 x 32 mm, black
6 PM029 Suspension bracket for rails nr. 1, black
7 PM030 Suspension bracket for rails nr. 2, black
8 PM031 Suspension bracket for rails nr. 3, black

{ 4D4MS‘, page 12—



Cat#

029
PM1401
PM1402
PM1403
PM1404

Rail #4: PM1404

Rail #1: PM1401

Pos#  (Caft#

PB121
PB124
PB128
PB141
PM104
PM003
PM016
PM043
PM106
PM114
PM056
PMA06
PMAO7
PBT17

—_
O WV JONUVUTF~WN

—_ -
wN -

Set of rails for Marimba Concert

Description

Set of rails for Concert Marimba, assembled

Rail #1 for Concert Marimba, assembled y)
Rail #2 for Concert Marimba, assembled
Rail #3 for Concert Marimba, assembled
Rail #4 for Concert Marimba, assembled

Description

Cross recessed countersunk head tapping screw 4.8x19, black
Head tapping screw 2.9x19 mm, black

Cross recessed countersunk head tapping screw 3.5x20, black
Cross recessed panhead fapping screw 2.2x6.5, black

Gaf open

Rubber sleeve 12x10x23, black

Rubber distance block

Cilindrical corner pen

Name plate Adams, gold

Type plate Adams: Marimba Concert

Mallet holder for marimba / xylophone

Spacer bracket, 55 mm

Spacer bracket, 179 mm

Hinge for rails marimba

{ 4D4M5‘, page 13—



Set of rails for Marimba Soloist

Cat# Description
030 Set of rails for Soloist Junior Marimba 3 oct, assembled
PM1411 Rail #1 for Soloist Junior Marimba 3 oct, assembled
PM1412 Rail #2 for Soloist Junior Marimba 3 oct, assembled
PM1413 Rail #3 for Soloist Junior Marimba 3 oct, assembled
PM1414 Rail #4 for Soloist Junior Marimba 3 oct, assembled
031 Set of rails for Soloist Marimba & oct, assembled
PM1421 Rail #1 for Soloist Marimba & oct, assembled
PM1422 Rail #2 for Soloist Marimba 4 oct, assembled
PM1423 Rail #3 for Soloist Marimba 4 oct, assembled
PM1424 Rail #4 for Soloist Marimba & oct, assembled
032 Set of rails for Soloist Marimba 4 1/3 oct, assembled
PM1431 Rail #1 for Soloist Marimba & 1/3 oct, assembled
PM1432 Rail #2 for Soloist Marimba 4 1/3 oct, assembled
PM1433 Rail #3 for Soloist Marimba & 1/3 oct, assembled 11—
PM1434 Rail #4 for Soloist Marimba 4 1/3 oct, assembled 1

Rail #3

Rail #1 ’
Pos#  Cat# Description
PB124 Head tapping screw 2.9x19 mm, black
PB128 Cross recessed countersunk head tapping screw 3.5x20, black

PB141 Cross recessed panhead ftapping screw 2.2x6.5, black
PM104 Gaf open

PM003 Rubber sleeve 12x10x23, black

PM043 Cilindrical corner pen

PM106 Name plate Adams, gold

PM115 Type plate Adams: Marimba Solist

PB717 Hinge for rails marima

PM056 Mallet holder for marimba / xylophone

OV JoNUT -~ WN

—_

{ 4D4M5 } page 14—



Set of rails for Xylophone Concert

Cat# Description

033 Sef of rails for Concert Xylophone quint funed, assembled
PM14 41 Rail #1 for Concert Xylophone quint funed, assembled
PM1LL2 Rail #2 for Concert Xylophone quint funed, assembled
PM1443 Rail #3 for Concert Xylophone quint tuned, assembled
PM1L b4 Rail #4 for Concert Xylophone quint funed, assembled

034 Set of rails for Concert Xylophone octave tuned, assembled
PM1451 Rail #1 for Concert Xylophone octave tuned, assembled
PM1452 Rail #2 for Concert Xylophone octave tuned, assembled
PM1453 Rail #3 for Concert Xylophone octave tuned, assembled
PM1454 Rail #4 for Concert Xylophone octave funed, assembled

Rail #3

Pos#  Cat# Description
1 PB124 Head tapping screw 2.9x19 mm, black
2 PB128 Cross recessed countersunk head tapping screw 3.5x20, black
3 PB141 Cross recessed panhead ftapping screw 2.2x6.5, black
b PM104 Gaf open
5 PM003 Rubber sleeve 12x10x23, black
6 PM043 Cilindrical corner pen
1 PM106 Name plate Adams, gold
8 PM117 Type plate Adams: Xylophone Concert
9 PB717 Hinge for rails marima
10 PM056 Mallet holder for marimba / xylophone

{ 4D4MS‘, page 15—



Set of rails for Xylophone Soloist

Cat# Description

035 Sef of rails for Soloist Xylophone 3.5 oct. quint tuned, assembled
PM1461 Rail #1 for Soloist Xylophone 3.5 oct. quint funed, assembled
PM1L62 Rail #2 for Soloist Xylophone 3.5 oct. quint tuned, assembled
PM1463 Rail #3 for Soloist Xylophone 3.5 oct. quint tuned, assembled
PM1L6L Rail #4 for Soloist Xylophone 3.5 oct. quint tuned, assembled

036 Sef of rails for Soloist Xylophone 4 oct. quint funed, assembled
PM1LT1 Rail #1 for Soloist Xylophone 4 oct. quint tuned, assembled
PM1472 Rail #2 for Soloist Xylophone 4 oct. quint tuned, assembled
PM1LT3 . Rail #3 for Soloist Xylophone 4 oct. quint tuned, assembled
PM14T7L Rail #4 for Soloist Xylophone & oct. quint tuned, assembled

037 Set of rails for Soloist Xylophone 3.5 oct. octave funed, assembled
PM1481 Rail #1 for Soloist Xylophone 3.5 oct. octave tuned, assembled
PM1482 Rail #2 for Soloist Xylophone 3.5 oct. octave tuned, assembled
PM1483 Rail #3 for Soloist Xylophone 3.5 oct. octave tuned, assembled
PM148L Rail #4 for Soloist Xylophone 3.5 oct. octave funed, assembled

038 Set of rails for Soloist Xylophone & oct. octave tuned, assembled
PM1491 Rail #1 for Soloist Xylophone & oct. octave tuned, assembled
PM1492 Rail #2 for Soloist Xylophone & oct. octave funed, assembled 1
PM1L493 Rail #3 for Soloist Xylophone & oct. octave tuned, assembled
PM1494 Rail #4 for Soloist Xylophone & oct. octave funed, assembled

Rail #&

Rail #2 ?
0 o]
. 10—e°2 3
1
2
Rail #1
Pos#  (at# Description
1 PB124 Head tapping screw 2.9x19 mm, black
2 PB128 Cross recessed countersunk head tapping screw 3.5x20, black
3 PB141 Cross recessed panhead ftapping screw 2.2x6.5, black
b PM104 Gaf open
5 PM003 Rubber sleeve 12x10x23, black
6 PM043 Cilindrical corner pen
1 PM106 Name plate Adams, gold
8 PM118 Type plate Adams: Xylophone Soloist
9 PBT17 Hinge for rails marimba
10 PM056 Mallet holder for marimba / xylophone

{ 4D4MS‘, page 16—



Resonators Marimba

Cat# Description

005 Set of resonators Concert Marimba, assembled
005A Accidental resonaftors Concert Marimba, assembled
005B Natural resonators Concert Marimba, assembled

006 Set of resonators Soloist Junior Marimba 3 oct., assembled
006A Accidental resonators Solist Junior Marimba 3 oct., assembled
006B Natural resonators Solist Junior Marimba 3 oct., assembled

007 Set of resonators Soloist Marimba 4 oct., assembled
007A Accidental resonators Solist Marimba & oct., assembled
0078 Natural resonators Solist Marimba 4 oct., assembled

008 Set of resonators Soloist Marimba & 1/3 oct., assembled
008A Accidental resonafors Solist Marimba & 1/3 oct., assembled
008B Natural resonators Solist Marimba 4 1/3 oct., assembled

Natural resonators

Pos#  (at# Description
1 PB321 Hexagon domed cap nufs M6, black

PM150 Rubber protection moulding
3 PB712 Hinge bolt m6x175 mm, black

{ 4D4MS‘, page 17—



Resonators Xylophone

Cat# Description
009 Sef of resonators Concert Xylophone quint funed, assembled
009A Accidental resonators Concert Xylophone quint funed, assembled
0098 Nafural resonataors Concert Xylophone quint funed, assembled
010 Set of resonators Concert Xylophone octave tuned, assembled
010A Accidental resonators Concert Xylophone octave funed, assembled
010B Natural resonators Concert Xylophone quint funed, assembled
01 Set of resonators Soloist Xylophone 3.5 oct., assembled
01A Accidental resonators Solist Xylophone 3.5 oct., assembled
011B Natural resonators Solist Xylophone 3.5 oct., assembled
012 Set of resonators Soloist Xylophone 4 oct., assembled
012A Accidental resonators Solist Xylophone 4 oct., assembled
012B Natural resonators Solist Xylephone 4 oct., assembled

Accidental resonators

Natural resonators

Pos#  (at# Description
1 PM150 Rubber protection

{ 4D4MS‘, page 18—



Connecting rod with brace

Cat# Description

PMAT1 Connecting rod concert marimba, assembled

PMAT3 Connecting rod soloist marimba 4 1/3 oct., assembled
PMAL6 Connecting rod soloist xylophone zelon, assembled

Pos#  (at# Description
1 PB098 Hexagon sockef sef screw M8 x 10, black
2 PB509 Wing screw plastic M8x20, black
3 PB523 Wingnut plastic M8
b PM021 Steel insert protection
5 PM005 Plain washer rubber M3, black
6 PM024 Connection bracket for connection rod
1 PM0L46 Brace holder for voyager frame
8 PM045 Brace voyager frame, black
9 - Cat# is dependef on instrument, see table |

table | (pos 9)
Type  Cat# Description
MC43  PMO067 Connection rod concert marimba 4 1/3 oct.

MS43  PM065 Connection rod soloist marimba & 1/3 oct.
XSKK  PM060 Connection rod soloist xylophone zelon 3.5 oct.

{ 4D4M5‘, page 19—



Cat#

PMALL
PMAT2
PMALS
PMALS
PMALS
PMALT

Connecting rod without brace

Description

Connecting rod soloist junior marimba 3 oct., assembled
Connecting rod soloist marimba 4 oct., assembled
Connecting rod concert xylophone quint funed, assembled
Connecting rod concert xylophone octave tuned, assembled
Connecting rod soloist xylophone 3.5 oct., assembled
Connecting rod soloist xylophone & oct., assembled

Pos#  (at# Description

1 PB098 Hexagon sockef sef screw M8 x 10, black

2 PB509 Wing screw plastic M8x20, black

3 PM021 Steel insert protection

I PM005 Plain washer rubber M3, black

5 PM024 Connection bracket for connection rod

6 - Cat# is dependef on instrument, see table |
table I (pos 6)
Type  Cat# Description
MJ30  PMO059 Connecting rod soloist junior marimba 3 oct. 1pcs.
MSL0  PMO6L Connecting rod soloist marimba 4 oct. 1pcs.
X PM063 Connecting rod concert xylophone quint funed 1 pcs.
X2 PM062 Connecting rod concert xylophone octave tuned 1 pcs.
XS35  PMO060 Connecting rod soloist xylophone 3.5 oct. 1pcs.
XS40  PM061 Connecting rod soloist xylophone & oct. 1pcs.

page 20 —



replaced with
PMA102 &
PMA103

replaced with
PMA106 left
and PMA107
right

replaced with
PMA106 left
and PMA107
right

replaced with
PMA106 left
and PMA107
right

Cat#
PMAGE

Description
Leg with wheel concert/soloist marimba

Pos# Cat#
1 PB099
2 PB508
3 PB313
A PBL08
5 PBW02
6 PMO70
1 PMOLQ

Description

Description

Leg with wheel

Hexagon socket set screw M10 x 10, black
Wing screw plastic M8x20, black

Hexagon nuf M10
Plain washer M10

Castor with double break, 75 mm
Wheel holder for voyager frame, black
Leg for concert/soloist marimba, black

Leg with wheel (with brake) marimba/xylophone with zelon bars

Pos# Cat#
1 PB099
2 PB508
3 PB312
A PBL08
5 PBW06
6 PMO70
1 PM039

Description

Description

Hexagon sockef set screw M10 x 10, black
Wing screw plastic M8x20, black

Hexagon nuf M10
Plain washer M10

Castor with double break, 100 mm
Wheel holder for voyager frame, black
Leg for marimba/xylophone with zelon bars, black

Leg with wheel (without brake) marimba/xylophone with zelon bars

Pos# Caft#
1 PB099
2 PB508
3 PB312
A PB408
5 PBWO7
6 PM070
1 PM039

Description

Leg with wheel xylophone/ junior marimba

Pos#

oVl ~wN =

ADAMS

Description

Hexagon sockef set screw M10 x 10, black
Wing screw plastic M8x20, black

Hexagon nut M10
Plain washer M10

Castor without brake, 100 mm
Wheel holder for voyager frame, black
Leg for marimba/xylophone with zelon bars, black

Description

Hexagon sockef set screw M10 x 10, black

Hexagon nuf M10
Plain washer M10

Castor with double brake, 75 mm
Wheel holder for voyager frame, black

Leg for xylophone, black

page 21 ——


shawnlafrenz
Callout
 replaced with PMA102 & PMA103 

shawnlafrenz
Line

shawnlafrenz
Line

shawnlafrenz
Line

shawnlafrenz
Line

shawnlafrenz
Line

shawnlafrenz
Callout
replaced with PMA106 left and PMA107 right 

shawnlafrenz
Callout
replaced with PMA106 left and PMA107 right 

shawnlafrenz
Callout
replaced with PMA106 left and PMA107 right 


Set of bars, marimba

Cat# Description

084 Set of bars for concert marimba rosewood &4 1/3 octave
085 Set of bars for concert marimba padouk 4 1/3 octave
101 Set of bars for concert marimba zelon 4 1/3 octave
086 Set of bars for soloist junior marimba padouk 3 octave
087 Sef of bars for soloist marimba padouk & octave

088 Set of bars for soloist marimba padouk & 1/3 octave
089 Set of bars for soloist marimba rosewood & 1/3 octave

MSPVJ30
2 3 MSPV40
MC - MS43
Pos# Cat# Description

1 PBC17 Spring for cord bars

2 - Cord set complete, cat# is dependet on instrument, see fable |

3 - Bars, cat# is dependet on instrument, see fable |l
table I (pos 2)
Type Cat# Description
MC PM126 Cord set complete for concert marimba (2 cords + 4 springs)
MSPVJ30 PM121 Cord set complete for soloist junior marimba 3 octave (2 cords + & springs)
MSL40 PM123 Cord set complete for soloist marimba &4 octave (2 cords + & springs)
MS43 PM125 Cord set complete for soloist marimba & 1/3 octave (2 cords + 4 springs)
table Il (pos 3)
Description Cat# e.qg.
Bar for concert marimba rosewood MCRW + note MCRWC4 , MCRWCH4
Bar for concert marimba padouk &4 1/3 octave MCPD + note MCPDC4 , MCPDCi#4
Bar for concert marimba zelon & 1/3 octave MCSY + note MCSYC4 , MCSYCH4
Bar for soloist junior marimba padouk 3 octave MSPD + note MSPDC4 , MSPDCHL4
Bar for soloist marimba padouk &4 octave MSPD + note MSPDC4 , MSPDCHL4
Bar for soloist marimba padouk & 1/3 octave MSPD + note MSPDC4 , MSPDCHL
Bar for soloist marimba rosewood &4 1/3 octave MSRW + note MSRWC4 , MSRWC#4

{ 4D4M5‘, page 22 ——



Set of bars, xylophone

Cat# Description

090 Set of bars for concert xylophone rosewood, quint tuned

091 Set of bars for concert xylophone rosewood, octave tuned

092 Set of bars for soloist xylophone rosewood 3.5 octave, quint tuned
093 Set of bars for soloist xylophone rosewood & octave, quint tuned
09L4 Sef of bars for soloist xylophone rosewood 3.5 octave, octave funed
095 Sef of bars for soloist xylophone rosewood 4 octave, octave tuned
096 Set of bars for soloist xylophone zelon 3.5 oct., octave tuned

098 Set of bars for soloist xylophone light rosewood 3.5 ocfave

099 Set of bars for soloist xylophone light rosewood & octave

100 Set of bars for soloist xylophone zelon 3.5 oct., quint tuned

1
? 3 XS2LD30
XS35
XC - XS40
Pos# Cat# Description

1 PBC17 Spring for cord bars

2 - Cord set complete, cat# is dependet on instrument, see fable |

3 - Bars, cat# is dependet on instrument, see fable |l
table | (pos 2)
Type Cat# Description
X1 PM124 Cord set complete for concert xylophone, quint tuned (2 cords + 4 springs)
XC2 PM123 Cord set complete for concert xylophone, actave tuned (2 cords + 4 springs)
XS135 PM120 Cord set complete for soloist xylophone 3.5 oct., quint tuned (2 cords + & springs)
XS140 PM122 Cord set complete for soloist xylophone & oct., quint tuned (2 cords + & springs)
XS235 PM120 Cord set complete for soloist xylophone 3.5 oct., octave tuned (2 cords + & springs)
XS240 PM122 Cord set complete for soloist xylophone 4 oct., octave tuned (2 cords + 4 springs)
table Il (pos 3)
Description Cat# e.g.
Bars for concert xylophone rosewood, quint tuned XCIRW + note XCIRWCS or XCIRWCH5
Bars for concert xylophone rosewood, octave tuned XC2RW + note XC2RWCS or XCZRWCH5
Bars for soloist xylophone rosewood, quint tuned XS1RW + note XS1IRWCS or XSTIRWCH5
Bars for soloist xylophone rosewood, octave funed XS2RW + note XS2RWCS or XS2RWC#5
Bars for soloist xylophone light rosewood XS2LR + nofe XS2LRC5 or XS2LRC#5
Bars for soloist xylophone zelon, quint funed XS1SY + note XS1SYC5 or XS1SYC#5
Bars for soloist xylophone zelon, octave tuned XS2SY + note XS2SYC5 or XS2SYC#5

{ 4D4M5‘, page 23 ——



	Marimbas & Xylophones
	Marimba Concert
	Marimba Solist 3 octave
	Marimba Solist
	Xylophone Concert
	Xylophone Solist quint tuned
	Xylophone Solist octave tuned
	Xylophone Solist Zelon
	Xylophone Solist tabletop
	Height adjustment assembled
	Large end piece
	Small end piece
	Set of rails for Marimba Concert
	Set of rails for Marimba Solist
	Set of rails for Xylophone Concert
	Set of rails for Xylophone Solist
	Resonators Marimba
	Resonators Xylophone
	Connection rod with brace
	Connection rod without brace
	Leg with wheel
	Set of bars, marimba
	Set of bars, xylophone



